AMENDMENT OF SOLICITATION/MODIFI	CATION OF CONTRACT	T CONTRACT IS COSE	PAGE OF PAGES
I AMENDMENT/MODIFICATION NO	3. EFFECTIVE DATE	La DEDING CANADAGA COLOR	1 1 4
0902		4. REDUSTIONS UNCHASE RED NO	S PROJECT NO (# approach)
6 ISSUED BY CODE	See Block 16C	7. ADMINISTERED BY (if other than item 6)	CODE
CONSUMER PRODUCT SAFETY COM DIV OF PROCUREMENT SERVICES 4330 EAST WEST HWY ROOM 517 BETHESDA MD 20814	MISSION		
8 NAME AND ADDRESS OF CONTRACTOR (No., 10M	et, county, State and 200 Codes	(x) GA. AMENOMENT OF SOLICITATION NO	
PEREZ SUSAN			
CHICAGO IL 60629		OR DATED (SEE ITEM 1)	
		X VSA MODERCATION OF CONTRACT/ORDER CPSC-N-12-0020	RINO
		108. DATED (SEE ITEM 13)	
CODE	FACILITY CODE	11/10/2011	•
The above numbered solicitation is amended as set &		O AMERICALENTS OF SOLICITATIONS	rtended, [] is not extended
CHECK ONE A THIS CHANGE ORDER IS 185UED FORDER NO. 1H ITEM 10A	pured) EXEMODESTO-252EO EXEMODESTO-252EO EXEMODESTOR OF CONTRACTSIOND PURSUANT TO (Specify sulforty) T		N THE CONTRACT
C. THIS SUPPLEMENTAL AGREEREN	IT IS ENTERED INTO PURSUANT TO	D'AUTRORITY ESF	
O OTHER (Speedy type of modification	and authority)		- Andrews - Andr
X BILATERAL MODIFICATI	on 43.103(a)		
E. IMPORTANT: Contractor The not	(x) is required to sign this document :	and return	eng affice
M DESCRIPTION OF AMENDMENT MODIFICATION DUNS Number: 808	(Organized by UCF section headings)	individing solicitation/contract subject matter where his	-
CCR: Randy Mitchell	1 stantament	327,422	
Phone: 301-504-6962			
mail: rmitchell@cpsc.gov			
dedification # 8002 to contra	act CPSC-N-12-0020	is hereby issued to revise .	as follows:
- The period of performance rom October 1, 2011 through continued			
One indea Except as provides herein, as terms and consisting of the	o description to the control of the	GA we haveledges observed somewhat surehammed and in	h di kurusa wani albani
SA HAME AND TITLE OF SIGNER (Type or print)	Control of	16A. NAME AND TITLE OF CONTRACTING OFF	to the found of th
Susper /	Lon-	Eddie Ahmad	• •
SE PONTRUCTOROFFEROR Magnetic Prince Burgarine Burgarine (Expression of person burgarine Burgarine)	Ercz 150 DATE SIGNED (0/14/12	16B UNITED STATES OF AUESTICA	16C DATE SIGNED 6/4//2
NSN 7340-01-152-8070 Previous edition unusable		F	STANDARD FORM 38 (REV 10-83) Plescribed by GSA PAR (48 CFR) 63 243



PAGE 2

OF 4

NAME OF OFFEROR OR CONTRACTOR

00000	CITCAN
PEREZ	SUSAN

(A)	SUPPLIES/SERVICES (B)	QUANTITY (C)	UNIT	UNIT PRICE (E)	AMOUNT (F)
	to October 1, 2011 through June 30, 2012.	+	(5)	(0)	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	2 - Line item 0001- quantity is decreased by 3,500 from 13,700 to 10,200.				
i e	Based on the above, \$13,440 will be deobligated from line item 0001				·
	3 - Line item 0002- quantity is decreased by 1,000 from 3,700 to 2,700				
	Based on the above, \$950.00 will be deobligated from line item 0002				
	4 - Line item 0002A- quantity is decreased by 3 months from 12 months to 9 months.				
	Based on the above, \$46.50 will be deobligated from line item 0002A.				
	Based on the foregoing, the total price of the base period is revised from \$56,309.00 by \$14,436.50 to a new total of \$41,872.50.				
	5 - The period of performance for the first option period is revised from October 1, 2012 through September 30, 2013 to July 1, 2012 through June 30, 2013.				
	6- The period of performance for the second option period is revised from October 1, 2013 through September 30, 2014 to July 1, 2013 through June 30, 2014.				
	7- The invoicing instructions as noted in the statement of work are hereby deleted in their entirety and replaced with the attached revised billing instructions dated May 31, 2012.				
	At this time the first option period is exercised for the period beginning July 1, 2012 through June 30, 2013 in accordance with FAR Clause 52.217-9, Option to extend the term of the contract . Pricing is in accordance with Line items 0003 - 0004A. At this time incremental funding is provided in the amount of \$32,475.00				
	for the performance period of July 1, 2012 through December 31, 2012. Additional funding will be provided via modification at a later date when funding becomes available. Continued				

NSN 7540-01-152-8067

OPTIONAL FORM 336 (4-86) Sponsored by GSA FAR (48 CFR) 53.110

CONTINUATION SHEET REFERENCE NO. OF DOCUMENT BEING CONTINUED

CPSC-N-12-00 0002 3 4

NAME OF OFFEROR OR CONTRACTOR

ITEM NO.	SUPPLIES/SERVICES	QUANTITY	UNIT	UNIT PRICE	AMOUNT
(A)	(B)	(C)	(D)	(E)	(F)
	All other terms and conditions remain unchanged and in full effect. Change Item 0001 to read as follows (amount shown				
	is the obligated amount):				7
	BASE PERIOD OCTOBER 1, 2011 THROUGH SEPTEMBER 30, 2012				
0001	NOT TO EXCEED NEISS SURVEILLANCE REPORTS AND SPECIAL SURVEY REPORTS IN ACCORDANCE WITH THE ATTACHED STATEMENT OF WORK.	-3500	EA	3.84	-13,440.00
	Change Item 0002 A to read as follows(amount shown is the obligated amount):				
0002 A	REIMBURSEMENT FOR ESTIMATED MONTHLY COMMUNICATION CHARGES.	-3	МО	15.50	-46.50
	Change Item 0002 to read as follows(amount shown is the obligated amount):				
0002	NOT TO EXCEED SUPPLEMENTAL/SPECIAL STUDYD REPORTS IN ACCORDANCE WITH THE ATTACHED STATEMENT OF WORK.	-1000	EA	0.95	-950.00
	Change Item 0003 to read as follows(amount shown is the obligated amount):	-			
	FIRST OPTION PERIOD July 1, 2012 through June 30, 2013				
0003	NOT TO EXCEED NEISS SURVEILLANCE REPORTS AND SPECIAL SURVEY REPORTS. Quantity: 7,800 @ \$3.89 = \$30,342.00	14385	EA.	3.89	30,342.00
	Change Item 0004 to read as follows(amount shown is the obligated amount):				
0004	NOT TO EXCEED SUPPLEMENTAL/SPECIAL STUDY REPORTS. Continued	3885	EA	0.97	2,037.00

NSN 7540-01-152-8067

OPTIONAL FORM 336 (4-86) Sponsored by GSA FAR (48 CFR) 53.110 CONTINUATION SHEET REFERENCE NO. OF DOMESTING CONTINUED

CPSC-N-12-00 0002

PAGE OF

NAME OF OFFEROR OR CONTRACTOR

P	ER	ΕZ	SUSAN	

ITEM NO.	SUPPLIES/SERVICES (B)	QUANTITY (C)	TINU (D)	UNIT PRICE (E)	AMOUNT (F)
	Quantity: 2100 @ \$0.97 = \$2,037.00				
	Change Item 0004 A to read as follows(amount shown is the obligated amount):				
0004 A	REIMBURSEMENT FOR ESTIMATED MONTHLY RECURRING COMMUNICATION CHARGES. Quantity: 6 @ \$16.00 = \$96.00	12	МО	16.00	96.00
	Change Item 0005 to read as follows (amount shown is the obligated amount):	٠			
	SECOND OPTION PERIOD July 1, 2013 through June 30, 2014				
0005	NOT TO EXCEED NEISS SURVEILLANCE REPORTS AND SPECIAL SURVEY REPORTS IN ACCORDANCE WITH THE ATTACHED STATEMENT OF WORK. Amount: \$59,358.72 (Option Line Item)	15104	EA	3.93	0.00
	Change Item 0006 to read as follows(amount shown is the obligated amount):				
0006	NOT TO EXCEED SUPPLEMENTAL/SPECIAL STUDY REPORTS IN ACCORDANCE WITH THE ATTACHED STATEMENT OF WORK. Amount: \$4,079.00 (Option Line Item)	4079	EA	1.00	0.00
	Change Item 0007 to read as follows(amount shown is the obligated amount):				
0007	REIMBURSEMENT FOR ESTIMATED MONTHLY COMMUNICATION CHARGES. Amount: \$198.00 (Option Line Item)	12	мо	16.50	0.00
SN 7540-01-162-					

OPTIONAL FORM 336 (4-86) Sponsored by GSA FAR (48 CFR) 53.110

A. BILLING INSTRUCTIONS

Pursuant to the Prompt Payment Act (P.L. 97-177) and the Prompt Payment Act Amendments of 1988 (P.L. 100-496) all Federal agencies are required to pay their bills on time, pay interest penalties when payments are made late, and to take discounts only when payments are made within the discount period. To assure compliance with the Act, vouchers and/or invoices shall be submitted on any acceptable invoice form which meets the criteria listed below. Examples of government vouchers that may be used are the Public Vouchers for Purchase and Services Other Than Personal, SF 1034, and Continuation Sheet, SF 1035. At a minimum, each invoice shall include:

- 1. The name and address of the business concern (and separate remittance address, if applicable).
- 2. Do NOT include Taxpayer Identification Number (TIN) on invoices sent via e-mail.
- 3. Invoice date.
- 4. Invoice number.
- 5. The contract or purchase order number (see block 2 of OF347 and block 4 of SF1449 on page 1 of this order), or other authorization for delivery of goods of services.
- 6. Description, price and quantity of goods or services actually delivered or rendered.
- 7. Shipping cost terms (if applicable).
- 8. Payment terms.
- 9. Other substantiating documentation or information as specified in the contract or purchase order.
- 10. Name, title, phone number and mailing address of responsible official to be notified in the event of a deficient invoice.
- 11. Contractors are encouraged to use CPSC Form 271A(02/07) found in Appendix A. A copy of the invoice should be submitted electronically via e-mail to your NEISS representative at CPSC by using the first initial and last name of the NEISS representative @cspc.gov (example: jdoe@cpsc.gov). This is a courtesy copy for CPSC record keeping only.

ORIGINAL VOUCHERS/INVOICES FOR PAYMENT SHALL BE SENT TO:

U.S. Mail

CPSC Accounts Payable Branch, AMZ-160 PO Box 25710 Oklahoma City, Ok. 73125

FEDEX

CPSC Accounts Payable Branch, AMZ-160 6500 MacArthur Blvd. Oklahoma City, Ok. 73169

OR

Via email to:

9-AMC-AMZ-CPSC-Accounts-Payable@faa.gov

Invoices not submitted in accordance with the above stated minimum requirements will not be processed for payment. Deficient invoices will be returned to the vendor within seven days or sooner. Standard forms 1034 and 1035 will be furnished by CPSC upon request of the contractor.

Inquiries regarding payment should be directed to the Enterprise Service Center (ESC), Office of Financial Operations, Federal Aviation Administration (FAA) in Oklahoma City, 405-954-7467.

B. PAYMENT

Payment will be made as close as possible to, but not later than, the 30th day after receipt of a proper invoice as defined in "Billing Instructions," except as follows:

When a time discount is taken, payment will be made as close as possible to, but not later than, the discount date. Discounts will be taken whenever economically justified. Otherwise, late payments will include interest penalty payments. Inquiries regarding payment should be directed to Brandon Strout at 405-954-6602 or at the U.S. Mail and Fedex addresses listed above:

Complaints related to the late payment of an invoice should be directed to Eldona Canterbury at the same address (above) or 405-954-5351.

Customer Service inquiries may be directed to Maggie Wade at MWade@cpsc.gov.